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unphppuunmGtph (Juqiwybpynipynih) wajwindp "{9.6u" U U l:;lll;zil) "Qhug" UMNL(**) mg;g:f?:lmam
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fTunphpnuunnih (QuqiwyEpynyeynia)/ Gupguyghwly Gunphyuwd Q.awhwnyud Qiwhwnjud
StluGhyuljuG shwynp 88.79 86.56 88.18
. ___________________________________________|
QhGp (qupnugwd) b wpdnypp (wpwig WEL) 42,99;(:(3;)0.00 44,1i2(3i)0.00 104,113,{(100.00
LhpgGulywl GGwhunnywd SGhip (K<90) 42,990,000.00 44,189,500.00 110,825,000.00 “Qlu”
IhpeGuwl Pwlwlgyud GhGp' Glipunyu; TUL 51,588,000.00 s s
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(*) Unluw Ep withuwdwujuumuwupiwtinipynit Stluthuub b dhtwbuwljud wnwewplttiph dthel” dtipnpynn ntunipubiiph dwjuyitiph dwuny:
Shtmbuwjub wnwewpyh vk tpdud pubwujub dwyuybttpp ("FIN-3 albc Jwipdwwnpnipyub pugdudp”, duptp 2, "Qy hhdtwub whatwuqd”, "N-
3" yupwnt) ninnt £ uyl hwdwyyuunwuhiwbbgbne mbuthfujub wnwewnpyh dhe tpgwdht’ phtwbuwjubd wnwewplh dbe thpunywd
huiwywwmuwupuwd Yhwdnph ghtip jhpuntnyg 6gpuyud pubwyh/dwjuh ypu: Lanhwitnip gnidwpp, hodwyumwuuwmbwpup, nignyt) £ hudwawyb
UWU<-h 24.2 thpwltinh:
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PYwpwtwubd vppuwbtn: Unuw Eht wmthudwyyuunwuimbing pynebitip mnnbph pnhwbnip gnidwptiph b tpuag hwtpugnidwnh dhel, wyuhtipt
1,425,000+1,900,000+1,425,000+1,425,000 (1-htt @welph hwdwp) Juqdnid £ 6,175,000 <<% 2,850,000 << thnpuwpkil
1,425,000+1,900,000+1,425,000+1,425,000 (2-pn @upebkph hudwp) juquinud k6,175,000 <<+ 2,850,000 << thnfuwptd’ pum junphpnuwnnth
hupquplyitipny: Canhwinip gnidwpp, hwdwwyunmwuuiuwtwpwp, nipnyt) £ hudwauwy TWo<-h 24.2 Ghpwljtinh:



